I2-16-13
f* (oeo

= ~ oAt fosceles

obtvse Scalene

3x-50 3xshlX

F:l\é X.
2 x-50 +7x= (8
+S06 %0
(Ox~ 220

X=23



Lie & o b ae L +e
euth othel. TE |ine @
hes a slope of Y wuhet
is the slope of b7

-

E)

X Fiad %,
“* h"‘%‘
x= 29

Whieh @quantion s peroeatiade
= = *g 2

A) ::x...v' g

) y= %x +?
D) No~= oh tr abova

R s between Aanic
AB=a~ BC=axtl
ACs U4

What s Jenyts of ABR?

P

A B8 <

AB ¢+ Be=RC
n a4y
2Aalt=44
Y =it
3n: 33
n=il
ABR=An= 20in=2=

(0,3) (‘,") wWhat ¢ A‘u"‘:“‘?
p-'lpln“ csi% l;—-.)
(32.1)

Complememrt=cy <o’
Us.
Su "lc mentary 160

How aneoy slaes doesa

hexagen have? ©

Converse Tl i€et ehon
T averse aesats
Contrapositivd loen Flip and

m-.‘t(

IF £=9 and g, then

p=C

~ 1~ ant SAive

Yesalest 2's ore equel

Trve

The sum of the angled
in & troaagle 1S 360

Fh“‘ %o



	Page 1: Dec 16-8:36 AM
	Page 2: Dec 16-8:59 AM

